1000/0 2do)/d(m_1 + m_2) [1/GeV]

=
<
[

Ratio to CMS

=
o
w

=
o
N

[ERY
o

=

[HEN
o
R

0.5

7000 GeV pp W+Jet
| T [ T I T I T I | I I T I I T | ﬂ
=— —=°¢c
= Trimmed jet mass (anti-k (0.7), 150<p <220, |y|<2.5) EE
- e
o
<
= = Al
— —] d
— —
B 1
B s
— — E
— 5.2
~ dx
- qo
™
— <
- — ™M
©
— — O
— =P
— —
— -.=
~ m CMS ! 1%
| --O-- Herwig++ 2.6.1a default B
= --3-- Herwig 7.2.1 default 32
—  —¥— Herwig 7.2.1 softTune m s
B 8
= 1 = O
= ' Fo
= | L | | | | | I -
:l T T T T | T T T T |:
= 42
- Q =
1
B —0.5
| 1 1 N 1 1 | 1 1 1 1 | |
0 50 100

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


